
Intermediate

Easy

Difficult
10 min1 person

FRONT PLATE FOR 

BMW R NINE-T

Nº 3
Nº 6

ALLEN

Ref.: 9167

ID. PART

1

2

3

4

5

6

7

8

9

10

11

DESCRIPTION

ABS front plate

Right metal support

Left metal support

M5 silentblock

Ø8,5 x Ø14 x 7,5mm arrowhead

M8x35 DIN 912 allen  screw

M5x16 ISO 7380 allen screw

M5x0,5 nylon washer

M5 ISO 7380 tap screw

Ø8 x 2mm silicone separator

Stickers set

QTY.

1

1

1

2

2

2

2

2

2

4

1

https://www.motorcycleid.com/Puig/


MOUNTING INSTRUCTIONS

43

21

Original screwsA

A
10

1

2

8

3

7

10
A

A

4
4

2
3

65

9

11

A

FRONT PLATE FOR 

BMW R NINE-T

Shop for other motorcycle windshields and fairings on our website.

https://www.motorcycleid.com/windshields-fairings.html



